usl_4aX

slope(ppm/um)

40

35

30

25

20

15

10

h 00

— - Entries 74
— 8 % | Mean x 1921
— o Mean y 34.77
— e ° . Std Dev x 8.787
= e L . Std Dev y 8.875
= oo
:_ o9
— [ ]
— °
_I 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

usl_4ayY

&

| | |
1920

19

h 01
Entries 74
Mean x 1921
Meany -1.074
Std Dev x 8.787
Std Dev y 1.436
e
‘ [ ]
® ~o
[}
(]
®e
[ )
[ ]
1 1 1 | 1 1 1 1 | 1 1 1 1
1930 1935 1940

cyclenum




slope(ppm/um)

usl_4eX

h 02
L - Entries 74
-67 [— % Mean x 1921
L Mean y -67.93
~ Std Dev X 8.787
B Std Devy 0.4467
—67.5|— . 4 o !
L o .
I [ ]
— ' ) ) 8
-68 _— 2 o °® o .
— [ 4 ® o
- °® )
-68.5—
- b L4 .. :
| [ ]
B ®
B ' | | | | |
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

19

18

17

16

15

14

13

12

11

usl_4eY

h 03

- °n Entries 74
— ®| Mean x 1921
= Meany 15.66
— : StdDevx  8.787
— ° 'Y o Std Dev y 2.206
I [}
™ [ J
— ]
— &N
E 8 e o°
— % s
— ° F ) 4
- [}
— ¢ ° o v 4 .
— [ 1Y i L]
— °
— o« °°
L [ ]
- ®
— [ ]
— °
[ 1 1 | 1 1 I. 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum




slope(ppm/um)

34

-34.5

=35

-35.5

-36

usl_11X12X

h 04
- Entries 74
Mean x 1921
Mean y -34.93
Std Dev x 8.787
o® ° * oo StdDevy 0.3484
®
[ ]
[ ]
¢ 5 .
[ ]
® L
° ool ° ¢ ®e
[ ] ..
[ Y o® s
o .
1 | 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



usr_4aX

(BN
o

slope(ppm/um)

h 10
L Entries 74
N ) Mean X 1921
— e . Mean y 3.568
u . . Std Devx  8.787
= . $ StdDevy  2.886
- [ ]
— [ ] [ ]
- * e e ¢ & ®
L o -
N ° . s
_— [ _J ® e “ &
(1)
: [ ]
- : o
N °
I [ J
- °
| [ ]
1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



usr_4ayY

slope(ppm/um)

h 11

— Entries 74
- » ) Mean x 1921
— s Meany -0.8094
— Std Dev X 8.787
— e e StdDevy 0.8643
— ] Y
— * % ..o °
== .. o .. .o . -
— * ® e o o0 '
: o0
= . oo Py )
: .. [ ]
— ™
__ [}
— [ ]
[ 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

31.5

31

30.5

30

29.5

29

28.5

28

27.5

usr_4eX

h 12

— Entries 74
— o Mean x 1921
:_ Meany 28.57
— o Std Dev x 8.787
- [ 0 Std Dev y 1.129
- ® L Y
— s (4 Py
— %
: [ ]
:_ b “. o . [ ) q ‘
— ° ) 00
— ‘v .
- ° &
- [ ]
. 1 1 | 1 1 | 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum




slope(ppm/um)

17

16

15

14

13

12

usr_4eY

cyclenum

h 13

— Entries 74
- Mean x 1921
- Meany 13.94
— Std Dev x 8.787
~ Std Dev y 1.288
- o
- [ ]
L o ' ) (%
— o
— « ¢ % e
: ° . &
= ..' s : - N
— ® 9 PY ° LR ]
- .o
- L)
E ) o® °®
- &
B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940




slope(ppm/um)

usr_11X12X

387 _h14
- o Entries 74
-38.8 — Mean x 1921
= . Meany -39.23
| [ ]
-38.9— [ ] Std Dev x 8.787
= % StdDevy  0.2269
-39 — * L
— .. ° *® o L4 . [
-39.1~ ., s .
— ®
-39.2 ¢
- o0 oo
393 ‘e ¢ . .
— )
-39.4— s » %o
— L]
-39.5—
-39.6 ;— &e
_39 7 : 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
' 1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



atll_4aX

slope(ppm/um)

h 20

== Entries 74
E » Mean x 1921
= . ! . 0 Meany -34.22
— Std Dev x 8.787
- o Std Dev y 9.427
— [ ]
E » ° e b
:— ® Y .. [ ] hd .‘ ‘
— o oo ]
— * o* v
— °®
= H °e
:_ L °
— e
= .
_ [ ]
. 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



atll_4ayY

=
N

=
N

slope(ppm/um)

h 21
Entries 74
Mean x 1921
Meany 9.457
i o® ® ¢ Std Dev x 8.787
e Std Dev y 2.468
[ J
°* » 2
° e o
° 8 ®
[ I L]
oo
..
1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atll_4eX

h 22
— - Entries 74
101~ Mean x 1921
. Meany 98.06
— (X Std Dev x 8.787
100 — . StdDevy  1.213
- (]
— ° )
99 .
— - . S
- h s ‘. %
98 = o0 .ﬁ
: '. [} o0
- %% o ®
- ° oo o [ T
97— °
96— .
95— °
— [ J
_ 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atll_4eY

cyclenum

h 2 3

— o - Entries 74
— ¢ Mean x 1921
- Meany -40.22
— ° Std Dev x 8.787
— Std Devy 3.414
— )
il . *
- : “.
— +° Se ". =2 L)
— [ ]
- e . * ’
— 4
— L 4 » o
: [ I
- ° 4
L 1 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940




slope(ppm/um)

52

50

48

46

44

42

atll_11X12X

h 24

o Entries 74

< Mean x 1921

Mean y 47

Std Dev X 8.787

Std Dev y 2.192

[ )
o9
o
™ . . F)
v nes '
[ J
Y4 . . oo
1]
° ®eo
[ J
«®
[ J
[ )
[ J
1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum




slope(ppm/um)

210

200

190

180

170

160

atl2_4aX

cyclenum

h 30

— - Entries 74
- Mean x 1921
— Meany 192.9
L . [ Std Dev X 8.787
- - Std Dev y 9.891
- s, %, ® o
B PP ® L ) ‘
__ ° S ® L [ J
— [
- [ ] (Y i
= * a
- °
_ [ ]
B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940




atl2_4ayY

slope(ppm/um)

h 31

— Entries 74
- o » Mean x 1921
- Meany -13.62
- . Std Dev X 8.787
= Std Dev y 1.896
— )
= o
- v
— - [ ] ® ° ’ - ° * .
- ® o
= .4 :
— L 4
:_ ) [ I
= . :
- ®
E e
__I 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atl2_4eX

207 _h32
— - Entries 74
— Mean x 1921
-208— Mean y -211.9
= StdDevx  8.787
-209 — . Std Dev y 1.421
- ° ]
-210—
: [ )
11— % ’ [ ]
[ PPN | ° . )
- ®e o d °®
-212 :— e 4 . [
— ]
—213—  °*° . oo
— . ®ee®
— [ J
214 — o®
L [ J
-215— %
— 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atl2_4eY

128 _h33
— . Entries 74
N Mean X 1921
126 — o Mean y 120.2
L o [ Std Dev X 8.787
— Std Dev
124 . y 2.952
N F .
122(— ¢ . w
N f ] %
L .o R
120 — ® ® o
— °e * ° %‘
118 __ . ‘ ..
L o9
116 — ° ¢
114 — ¢ . .
: ®
1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

-268

-269

=270

=271

=272

=273

~274

-275

atl2_11X12X

h 34

- s » Entries 74
— Mean x 1921
= Meany -271.6
— Std Dev x 8.787
— . Std Dev y 1.571
- )
- o
= ‘ .’ e .
[ o . . (4 ®
— o DI R
— o9 PY)
: [ ]
__ . ..
- e .
— «®
L o
— °
| 1 | 1 1 1 | 1 I. 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atrl_4aXx

h 40
— » Entries 74
- Mean x 1921
110 = Mean y 93.13
— ] Std Devx  8.787
105 — StdDevy  7.386
— .
w00~ ¢°° ' ’
— "o ' ® °
95 __ oo '. ) [ ) ?
90 [— * ‘Y o
- [}
: .. L ¢ ¢
85— o °e
: [ ]
— «®
80— . -
— [ J
[ 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

(BN
o

atrl_4aY

h 41
L Entries 74
~ % Mean x 1921
__ . Mean y 5.461
- ® te Std Dev x 8.787
L ° .o . . [ Std Dev y 2.737
I .. oo
- [ ] b I
L °e .o
__ o0 ° .‘
— [ ]
L [ Y
B ¢ °
B °
[ .
- [ ]
1 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum




slope(ppm/um)

-182

-184

-186

-188

-190

-192

atrl_4eX

h 42
Entries 74
o Mean x 1921
s Meany -187.9
. Std Dev x 8.787
d . 1 Std Dev y 2.402
[ J
o
e
[ ] .. ’
e °° o »
CJ ® °
[ ] . [ ] [ ]
8 F . 70
[ ]
[ ]
[ ]
1 | 1 1 1 1 | 1 1 1 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



atrl_4eY

slope(ppm/um)

34

32

30

28

26

24

22

h 43

— Entries 74
- Mean x 1921
— Meany 28.57
- Std Dev x 8.787
= Std Dev y 3.987
- )
- .
: .
— ]
- s
— "o
— o
— g [ 1Y
: 1 1 | 1 1 1 1 | 1 1 1 1

1920 1935 1940

cyclenum



slope(ppm/um)

-132

-134

-136

-138

-140

-142

atrl_11X12X

h 44
- Entries 74
< Mean x 1921
(] Mean y -136.8
s o Std Dev x 8.787
o ® ® | Std Devy 2.336
) ’ o
...
[ ]
o L i he
o s *
o LY
® .
. . ™
° [ ]
[ ]
«®
.. o
1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum




slope(ppm/um)

195

190

185

180

175

170

165

160

atr2_4aX

h 50
— - Entries 74
— S Mean x 1921
= Meany 180.6
- ° Std Dev x 8.787
E . e o o0 Std Dev y 7.998
[}
— e ° s *
| LY () [ ]
: o
= 5 .
— . " ..
— . ° o9 o0
— b ® o0® o
— [ ]
— 4 °
- .
- °
[ 1 1 | 1 I. 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

-10

-12

-14

-16

-18

=20

atr2_4ayY

h51
o Entries 74
Mean x 1921
Meany -14.93
9 Std Dev x 8.787
. o® Std Dev y 2611
[ ]
] °
[ S— L
(]
()
[ Y % : '
‘ [ ]
°® “ [
[ Y °
.. [ ]
[ ]
[ )
1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | I. 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum




slope(ppm/um)

atr2_4eX

_99 —h52
— o Entries 74
| ° (_J
- Mean x 1921
~100 — % o Mean y -102.7
= . g StdDevx 8787
— Std Dev .
-101— ¢ o7 y 1560
—
— %
-102 —
— ®.
= L )
—103 :_ [ ® [ ] .‘ ..
e R . 38
~104— g o .
— °
-105—
— °
-106 |— o
— °
B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atr2_4eY

h 5 3
[ Entries 74
140— . e Mean x 1921
~ * s Meany 134.7
138— : ) Std Dev X 8.787
- te : StdDevy  3.665
B %o °
| [ ]
136 o
: ® . ! .. [ 1Y
134 __ ‘ o0
L o0
132+— L]
: [ 3PS (1]
- [ ]
- o
130 ~ &
128 — o
126 — .
B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



slope(ppm/um)

atr2_11X12X

h 54

- Entries 74
~320 = * Mean x 1921

= % . Meany -323.7
-321— i . Std Dev x 8.787

- o Std Dev y 1.644
-322—

- y -
-323— )

— - °e O

= <2 e
~324— s e .

= * e  .°38 *
-325

— o® o9 s °

: [ ]
-326 — ¢

- °
-327—

— °
_328 [ 1 1 | 1 1 1 1 | 1 I. 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1

1905 1910 1915 1920 1925 1930 1935 1940

cyclenum



